oA 2 =

%m =) ?ﬁ.mb%%

# E£20054£12 A 31 8 12k £ B
(BT EHR)

5% B e K 150 )
B &t 2005% 2004 %
(R&1BRT)
TET FTET
A 3 6,002,371 5,251,540
SHE A (5,023,810) (4,392,032)
e 978,561 859,508
Hftpg& s 4 132,215 52,185
A= DN (281,004) (235,463)
THEH (252,042) (239,686)
Hith& T H 5 (31,811) (44,898)
ERAAE 545,919 391,646
[ER= %N 6 (15,637) (9,119)
FEfh Bt N B 2 MR S &R 30,239 28,230
R A1 A 7 560,521 410,757
A8t 10(a) (115,586) (72,465)
REEFE 444,935 338,292
AHR
DNERRER 444,918 340,774
DEIR R 17 (2,482)
EEEFE 11&29(a) 444,935 338,292
TEERMNLATRRNKE 12
FREMBPHRE 40,266 30,200
EERBERGEERREZNARBRE 90,599 80,532
130,865 110,732
BRAEML) 13 221 16.9

531 HE 79 ERHME - AARPBHRRN A -

A R






